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2366, Quiz #1L, mer 2OL4 N a m e

nstructions: Show all Justi fy answers as completely as possi lf you are asked to prove
thing, mere com is not enough. You must explain ing. Be sure to state your

clusion clear ly.  I plete work or justification will not receive l l  credit.  Use exact answers unless
ly asked to

L Prove the x * yz - (x + y)(x + z) using Boolean s,
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of the function F(x,y,z) = xy + (xyz).
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2.  F ind the dual
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3.  F ind  the expansion of the Boolean functio ( x , y , z ) = ( x * y ) 2 .
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